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Key Concepts Geflect shape A in the line Examples \
A reflection creates a mirror image of a shape| | X = 1. Label it B.
on a coordinate graph. The mirror line is given . | Rotate shape B from the
by an equationeg.y = 2,x = 2,y = x.The I point (-1, -2)
shape does not change in size. 1 :
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A rotation turns a shape on b i y = x. Label it B. A TN Label it B
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( Key Words \ Describe the single transformation vou see on each coordinate grid from A to B:
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Key Concepts 4 Examples
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An enlargement changes the size of an image using | Enlarge shape A by scale Enlarge by scale factor > Enlarge by scale factor -2
a scale factor from a given point. . .
factor 2 from point P. from point P. from (0,0).
A positive scale factor will increase the size of an y ’ y
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A fractional scale factor will reduce the size of an N o0 ' }
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opposite side of the centre of enlargement, with s = B ’ N | | AN | : \M
the image inverted. : HEEEEE . \ \ T
| HEEEE ] D\ |
1P P ||
I s 4 s e 7 s s wmm s 81z 45 e 785w ’

-

Key Words
Enlargement
4 2 hegartumathg o
637,638,650, Neotiue
| 642-645,651 ) \

N

J

Describe the single transformation vou see on each coordinate grid from A to B:
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